|

|

t Note:

i
f_
|

Phomisty .
.15 Minutes | (Objective Type) | Max. Marks: 12

A8 YT

STRY 9TH
Oth Class 2018

the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

The example of solution of a solid solute in a solid
solvent is:

(a) Fog (b) Brass v

(c) Cheese (d) Air

The most common example of corrosion is:
(a) Rusting of iron v

(b) Chemical decay

(c) Rusting of aluminium

(d) Rusting of tin

The boiling point of sodium chloride is:

(a) 800°C (b) 850°C

(c) 1412°C (d) 1413°C v
Formula of rust is:

(a) FeO, (b) Fe(OH),.nH,0
(c) Fe(OH), (d) Fe,0,.nH,0 v

Which one of the following element is found in much
abundance in earth’s crust:

(@) Oxygen ¥ (b) Aluminium

(c) Silicon -~ (d) Argon

Which pair of compounds is soluble:

(a) Etherand water  (b) KCland water v

(c) Benzene and water (d) Petrol and water
Sub-shell ‘P’ can have maximum number of electrons:

(a) 4 . (b) 6 vV
(c) 8 (d) 10
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(c) 40 v (d) 3.5 .
The base of modern periodic table Is:
(b) Avogadro’s number

The heaviest metal is:

(a) lron (b) Platinum
(c) Osmium v (d) Lead
Methane is an example of:
(a) Single covalent bond v/

(b) Double covalent bond

(c) Triple covalent bond

(d) Dative covalent bond
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3.2 Write short answers to any Five (5) questions: 10
— pefine nuclear chemistry. ,

Nuclear chemistry is the branch of Chemistry that

jeals with the radioactivity, nuclear processesr;y and

_ propertles. The main concern of this branch is with the
rgy of atom and its uses in daily life.

i) Differ_entiate between physical properties and
" chemical properties.

A e

-

Physical Properties Chemical Properties

The properties that are The chemical properties
associated with the physical | depend upon the composition
state of a matter are called | of substance. When a
physical properties; like | substance undergoes a chemical
colour, smell, taste, etc. change, its composition changes
and a new substance Is
formed. -

(iii) Define symbols of elements.

[X®» The elements are represented by symbols, which
are abbreviations for the name of elements. A symbol is
taken from the name of that element in English, Latin,
Greek or German. If it is one-letter, it will be capital as R
for Hydrogen. In case of two letters symbol, only first letter
is capital e.g., Ca for Calcium.

Explain the treatment of cancer by radiotherapy.

XD Radiotherapy (Treatment of Cancer):
Cor the treatment of skin cancer, isotopes like P-32

and Sr-90 are used because they emit less penetrating
beta radiations. For cancer, Co-60, affecting within the
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etween the nuclel of the!

istance b | : ,
XD The half of “']g rde'fetf,re‘d 45 the atomic radius of the|

hetween the nuclei of twg |
is 154 pm, It means

a period? 5
IT® |t is because the size of atoms reduces and valence|
electrons are held strongly by the electrostatlc force of |
~ucleus. So. more energy is required to remove valence |
electrons. |
(viii) Write down the name of elements found in second

period. .

XD Second period consists of 8 elements and their |

names are:
1. Lithium 2. Beryllium 3. Boron

4. Carbon 5.Nitrogen . 6. Oxygen
/. Fluorine 8. Neon

Q.3. Write short answers to any FIVE (5) questions: 10 |
(i) Why do atoms react? -

LD Every atom has a natural tendency to have 2 or 8

electrons in its valence shell so that they can be stable.

Atoms react with each other to fulfill thi ' -
S quantity of ,
(i) Why does ice float on water? ; Ll

m' Floating of ice on water is because of hydrogen

bonding. The density of ice at 0oC (0.917 glem?) is |ess
0°C (1.00 g/em?). In the liquid
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es, the M rrange themselves in an ordered

hat gives them open structure, This proc
| | ... ess
form! 1ds the molecules that results in ice being Iesg dense

mpared to walter.
lonic compounds are solids. Justify,

[P lonic compounds are made up of positively and
~egatively charged ions. Thus, they consist of ions and not
me molecules. These positively and negatively charged
ions are held together in a solid or crystal form with strong
electrostatic forces. So, ionic compounds are solid in

nature.

(iv) In which form sulphur exists at 100°C?

[P At 100°C, sulphur exists in the monoclinic form.
(vy What is diffusion in gases? Give an example.

[ Gases can diffuse rapidly. Diffusion is defined as
spontaneous mixing up of molecules by random motion
and collisions to form a homogenous mixture. Rate of
diffusion depends upon the molecular mass of the gases.
Lighter gases diffuse rapidly than heavier ones. For
example, H, diffuses four times faster than O, gas.

(vij Why do we stir paints thoroughly before using?

XD we stir paints thoroughly before using because paint
is a suspension and suspension Is a heterogeneous

mixture of undissolved particles in a given medium.
Particles are big enough to be seen with naked eye.

Whenever, we use paint, we stir it thoroughly because the
settled down particles will suspended again in mixture and

will be easy 1o use.
(viij What do you mean by % Volume / Volume?

P> |t is the volume In cm? of a solute dissolved per 100

cm? of the solution. _
Volume of solute (cm? Y00

% by Volume = Volume of solution (cm?) ¢

as cO
(i)




Ans, aht in the solution. _If the given f
e the ™ then it Is @ colloidal solutigp

| ttered the light a on. |
;?,'tu ti'? ?t zc:es ot scatter light then it is not a colloida|

gohion. e
Q.4. Write short answers to any FIVE (5) questions: 1

()  What are redox reactions?

XD Chemical reactions, in which the oxidation state of}
sne or more substances changes are called oxidation.

reduction or redox reactions.
(i) Whatis meant by a reducing agent?

[I®> Reducing agent is the species that reduces a
substance by donating electrons to it. The substance (atom:
or ion) which is oxidized by losing electrons is also called as!
reducing agent. Almost all metals are good reducing agents
hecause they have the tendency to lose electrons. : 3
(il Define oxidation in terms of oxygen. Give an T‘

example. |
LID Oxidation is defined as the addition of the oxygen.:
The example is given below: f.'~

2Zn0 + C —»2Zn + CO,
L Addition of 0—4

~ Calculate the oxidation number of “N” in A“gNO3 and HNO,,
D agno,: '

O.N.of Ag + O.N. of N + 3[O.N. 6f O]=0 ;
1+ N +3(-2) =0 a
i
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Write two applications of gold.

Following are two applications of gold:

Because oOf its inertness in atmosphere, it is an
ornamental metal as well as used in making coins.
. Gold IS too soft to be used as such. It is always
l alloyed with copper, silver or other metal.

- (vi) Give occurrence of alkali metals and alkaline earth
metals.

[ Alkali Metals:
7- They are very reactive and always occur in combined

form.
Alkaline Earth Metals:
They are fairly reactive and also occur in combined

form.
(viij Write any two chemical properties of non-metals.

D Following are the two chemical properties of non-metals:

1. - They usually do not react with water.
2  Their valence shells are deficient of electrons,

‘therefore, they readily accept the electrons 10
complete their valence shells and become stable.

(viii) What is trend of electropositive character of metals
in groups and periods?

XD Trend in Group:
Electropositive character increases down the group

because the size of atoms increases.

Trend in Period:
Electropositive character decreases across the

period from left to right in periodic table because the size
of atoms decreases due to increase of nuclear charge.




(i) They ca}l cast a sharp shadow of an opaque objectnf
|

d in their path. 1
(iv) E:Sr?tens produced when these rays strike the walls of o .

the discharge tube.
(v) JJ. Thomson discovered their charge / mass (e/m) '

(b) Write four differences between molecule and
molecular ion. (4) _

LUD Differences Between Molecule & Molecular lon

-m Molecular lon

it is the smallest particle | It is formed by gain

of an element or{or loss of electrons
compound which can exist | by a molecule.
iIndependently and shows -
all the properties of that

lt IS always neutral. It can have negative
or positive charge.

formed by the I is for
comblnatlon of atoms. g8 oy the




polar solvents. N they dissolve in

3, They are usually inso|yple in
non-aqueous solvents [ike
and acetone.

[P Allotropy:

The exi§tence of an element in more than one forms
in same physical state is called allotropy.
Allotropy is due to:

(i) The existence of two or more kinds of molecules of
an element each having different number of atoms
such as allotropes of oxygen are oxygen (O,) and

ozone (O,).

(i) Different arrangement of two or more atoms or
molecules in a crystal of the element. Such as,
sulphur shows allotropy due to different arrangement

of molecules (S;) in the crystals.

They always show different physical properties but
may have same or different chemical properties.

Allotropes of solids have different arrangement of
atoms in space at a given temperature. The arrangement
of atoms also change with the change of temperature and
new allotropic form is produced. The temperature at wh@ch
one allotrope changes into another is called transition
temperature. For example, transition temperature gf
sulphur is 96°C. Below this temperature, rhombic form is
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8(rhombic) fin and phosphOFUS.

—— SN, (tetragonal)

: iISONOUS and
- orus is very reactive, pois 1d |
White phosph : i ecules. While |

ctive. non-poisonous and Dritle |

Q.7.(a) Discuss electrolysis of water.

XD Following are the four properties of colloids: |

(i) The particles of colloids are large and consist of
many atoms, ions or molecules. ?

(ii) A colloid appears to be homogeneous but actually it 7

s hgterogeneous. Hence, they are not true solution.

Particles do not settle down for a long time,

therefore, colloids are quite stable.

() The particles of the colloids scatter the light rays,
thus emitting the beam of light.

(iv) The particles of colloids can pass through the filter paper.




